3PNy Jemoqg

‘ HS #e=messs

e

iR

Il 3-Jaw BRIZ AR EEN )R E, IR 1058

FEREA

B B AL B )
L PR, RIERE, FonK

ERNEHENXR
HS-05 / HS-06 / HS-08 HS-10 / HS-12
o 120
7 120 HS=10 HS=12
. g T e e
50 HS—06 \\ 28 \\
EE HS—05 N <0 N
8 a0 — — 8 s0 A
L S 40
g g
30 g%
2 0 1000 2000 3000 4000 5000 6000 7000 < 0 500 1000 1500 2000 2500 3000 3500 4000 4500
Speed : min™ (r.p.m) Speed : min™ (r.p.m.)
g
HS-05 HS-06 HS-08 Hs-10 HS-12
B2 [mm] 33 46 52 77 91
ERETRR Max. [mm] 135 169 210 254 304
EFER Min. [mm] 12 15 13 31 34
RIMYTIE(ER) [mm] 54 55 74 8.8 10.6
HETRE [mm] 10 12 16 19 23
AFRIERAHIA [KN(kgf)] 17.5(1784) 22(2243) 34.8(3549) 43(4385) 55(5608)
FFRIERAIERES (KN (kgf)] 36(3671) 57(5812) 86(8769) 111(11319) 144(14686)
AYBIRARATER [min'] 7000 6000 5000 4200 3300
£ kel 6.7 11.9 223 345 553
RIEH5E [N - mi(kg - m?)] 0.69(0.07) 2.26(0.23) 6.67(0.68) 12.36(1.26) 28.93(2.95)
FERRI Cylinder SH-10036 SH-13046 (SYH-1246) SH-15052 (SYH-1552) SH-18077 (SYH-1877) SYH2091
RAIRERES[MPa(kgf/cm?)] 2.9(30) 2.8(28.6) 2.65(27) 2.7(27.5) 2.7(27.5)
BAEM HBO4N1 HBO6A1 HBO8A1 HB10A1 HB12N1
KITAGAWA® Model B-205 B-206 B-208 B-210 B-212

X AT HRAFRUSTIE A,
¥ RS SHIE AT e R B A TE AMFR &,
% = FENMIMAELR A Kitagawa #2ft OEM 47,




EILEEE ¢ @33~ @91
FHEE - @12~@304

SERRATION PITCH 1.5
L K
U
)
‘}4__
60°
[] %
=z =)
-
) ()
- (o8]
S, G 3
NNHEE &
5 ‘%3
[ |
|-
S
| © L E*J*
HS—05
X HTREERSES, BEEEXETEHEI L.
~mR~
Hs-05 Hs-06 HS-08 HS-10 Hs-12
135 169 210 254 304
60 81 91 100 110
110 140 170 220 220
826 104.8 1334 1714 1714
4 5 5 5 6
33 46 52 77 91
1 11 145 8.5 8
-9 -1 -1.5 -10.5 -15
20 19 20.5 25 28
12 20 30 45 50
M40x1.5 M55x2.0 M60x2.0 M85x2.0 M100x2.0
3-M10x60 6-M10x95 6-M12x105 6-M16x120 6-M16x130
26 29 39 43 50.5
54 72 95 110 111
14 20 25 30 30
26.5 32 38.7 51 61.3
238 29.25 35 46.6 56
19.75 22.75 29.75 33.75 45.75
7.75 9.25 14.75 14.25 15.75
23 31 35 40 49
10 12 14 16 21
2 2 2 2 2
45 60 66 94 108

% Draw-nut BAREM SR,

RELATED PRODUCT O I @]

Adaptor H/S Jaw Cylinder
262p 256p 106p



	动力卡盘 18
	动力卡盘 19

